LUGARI DISTRICT JOINT END OF YEAR EXAMINATIONS

FORM 1 PHYSICS

TIME 2 HOURS

Marking scheme

INSTRUCTIONS

This paper consist of three papers section one and section two

Answer all the question in the spaces provided.

Section 1 (50mks)

1. The figure one shows a meter ruler state correct reading and its accuracy
(2mks)

10.4 cm

Accuracy is 0.1 cm.

2. Explain why water cling drops at the sides of a glass beaker.


(1mk)

cohesive forces within the water molecules is greter than adhesive forces between water and glass molecules.

3. A glass slide of a density 2.5g/cm3 measure 20cm x 10cm x 50cm what is a minimum pressure it execute on a flat surface





(3mks)

pmin = fghmin

= (2.5x1000)kg (m3x10x 20



     100

= 2500x 1 x 2/10

= 5000 pa

4. State three factors that effect the conduction of heat on a solids.

(3mks)

· cross section area of the solid

· length of the solid

· temperature gradient

· type of material used.





(any three)

5. Two identical metal rods are placed in figure two bellow one rest on a wooden block and the other on a metal block. The motruding ends are heated on a burner state with reason in which block is likely to melt first.



(3mks)

B- wood is a poor conductor of heat

6. Explain the difference between a liquid solid and gas in terms of intermolecular distances and forces.






(6mks)

In a liquid the molecules are spaced while in a solid they are very close with higher cohesive forces as compared to liquid.

7. Figure III shows a conical flask 15cm filled with a liquid of  density 1200kg/m3 the atmospheric pressure of the surrounding is 8.4 104 Pascal’s.

p= sgh

= 1200x10x0.15

= 1800 pa

8. An allow contains 80% gold and 20% silver, by mass what is its density if it ways 100g density of gold 19.3g/cm3
Density of silver 10.8gcm3





(5mks)
9. Define a Brownian motion and explain how temperature affects it.
(4mks)

- Matter consists of tiny particles which move in a continuous random motion

-An increase in temperature increases random motions.

10. A ball bearing weighs 8kg and 50N when fully immersed in alcohol. Calculate the up trust.

Wt = 8x10 = 80N

U = wt – weight in alcohol

= 80 – 50

= 30N

11. Give two differences between mass and weight.

- Mass is quantity of matter in a body while weight is force of gravity acting on a body.

- must in measured in kilograms while weight is in Newton’s.

12. The figure four shows a sketch of graph of density g/cm3 Against temperatures for water.


Explain what happens to the volume and mass of the water

The volume decreases from 00 to 40C, then increases but mass remains constant
13. State two properties of the thermometric liquid



( 2mks)

· visible

· not wet glass

· have high B.P and low M.P

14. Convert each of th following from Kelvin to 0C



( 6mks)


a) 0k

b) 100k

c) 28k

· 2730C

· 2730C

· 2450C

15. How is the sensitivity and accuracy of a thermometer improved 
( 3mks)

- having a narrow tube.
SECTION B   ( 50 MARKS)

16. I) Give reasons why it is n3ecessary to leave the caps of the cells open when charging an accumulator







( 1mk)

For free circulation of air i.e allow Hydrogen to escape.

    ii) Define current and state its SI unit




( 2mks)

· is rate flow of charge in a circuit.

S.I unit is Amperes

  iii) A charge of 120 coulombs flow through a 1 am every minute. Calculate the current flowing through the lamp.






( 3mks)

I = Ø = 120 = 2A

      t      60

iv) What do you understand by open and closed circuits?


( 2mks)

open – no current flows

closed – current flows
a) State the polarities of 

A- +ve

B- -ve







(2mks)




b) Name the chemical substances in the parts labeled C and D

( 2mks)

C – Ammonium chloride paste

D – Carbon powder and manganese IV oxide.

17. i) The figure shows an arrangement of source of light, an opaque object and a screen. Using A,B and C as point sources, sketch on the same diagram labeled a ray diagram to show what is observed on the screen.

Umbra

penumbra

ii) In a certain pinhole camera, the screen is 10cm from the pinhole. When the pinhole is placed 6cm away from a tree, a sharp image of a tree 16cm high is formed on the screen. Find the height of the tree.






( 3mks)

hi = v

ho   u

1.6  = 10cm

ho
6cm

ho = 6x16
         10

= 9.6cm

iii) Figure (v) below shows two mirrors, AB and CD at right angles. The ray PO makes an angles of 300 with the mirror AB as shown

600
300
600
 Show the path of the ray after reflection from both mirrors indicating the angles of incidences and reflections.

Lunar – Earth in between the sun and the moon

  Earth shadow is focused on the moon

Solar – moon in between the Earth and the moon

· moon shadow is focused on the Earth

· occur during new moon.

v) A girl stands 4m in front of a plane mirror.

a) What is the distance between the girl and her image?

(3mks)

2x4 = 8m

iv) Distinguish between Lunar and Solar eclipse by sating events that lead to the formation of each.






(4mks)

b) If the mirror is moved o.6 m away from the girl what will be the distance between her and the image?







( 4mks)

4 + 0.6 = 4.6 new distance

2 x 4.6 = 9.2m

c) The figure (VI) below shows two parallel mirrors, and an object between them, locate the images by the mirrors using appropriate ray diagrams


( 6mks)

a) correct images and ray diagram

(1mk)
18. i) State the basic law of electrostatics 




( 1mk)

like changes repel while unlike charges attract.


ii) Explain how you would use an electroscope to distinguish between a conductor 

and an insulator






( 3mks)

· charge the electroscope

· touch the cap using the materials

· in case of collapsing of leaf then the material is a conductor but incase of remaining the same then the material is an insulator.

iii) Two conducting balls shown in the figure (VII) below identical and contain the number of excess elements indicated. The balls are made to touch. How much charge in coulombs will each have? (Charge of one electron = 1.6 x 10-19 coulombs)







( 3mks)

Total 12

each = 12 x 1.6 x 10 -19C


2

= 6x 1.6 x 10 -19 C

= 9.6 x 10 -19C

    iv) Fill in the table of charges appropriately 



( 5mks)

	Charge on Electroscope
	Charge brought near cap
	Effects on leaf divergence

	+

-
	+

-
	
Divergence increase

       “               decrease

	+ or -
	Uncharged body
	
No effect


    v) What is the name given to the method of charging an electroscope where it requires an opposite charge to the one of the charging materials?

By induction.
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